
AC Motor Small Power Units

31341 Friendship Drive, Magnolia, TX 77355  •  Tel.: 281-259-7768 Fax: 281-259-7249  •  www.hyvair.com

AC Motor Small Power Units

INDUSTRIAL FLUID POWER COMPONENTS 
AND SYSTEMS HT & VT SERIESHT & VT SERIES

SERIES HT- AC MOTORSERIES VT- AC MOTOR



31341 Friendship Drive, Magnolia, TX 77355  Tel.: 281-259-7768 Fax: 281-259-7249  www.hyvair.com

HT & VT Series
AC Motor Small Power Units

Ordering Information
HT2 - 1HP1 - G1.4 - Options

Options
DV-Voltage

Dump Valve
(specify voltage &

current type)

D03-X_PorS
Manifold

(specify number of
manifold stations
& type of circuit:
parallel or series)

Type/ Tank Size
HT0.8
HT1.3
HT2
VT3
VT10

HP
1
2
3

Phase
1
3

Flow
(GPM@1800 rpm)

.7

.9
1.4
1.9
3

3.5Rated @ 2500 PSI Max.

SERIES HT- AC MOTOR

SERIES VT10- AC MOTOR

Wiring
SINGLE PHASE THREE PHASE

(CCW Rotation)



31341 Friendship Drive, Magnolia, TX 77355  •  Tel.: 281-259-7768 Fax: 281-259-7249  •  www.hyvair.com

HT & VT Series
Series HT- AC Motor Small Power Units

Dimensional Data

180
7.09

0.8 GAL = 8.07 [205]
1.3 GAL = 12.63 [321]
2.0 GAL = 15.94 [405]

 L 

Mounting
1 HP = 3.93 [100]

2-3 HP = 4.93 [125]98
 3.85 16

.61

Filler/Breather P2 Port (G 3/8)

T2 Port (G 3/8)

Low Noise Relief Valve

A.C. Motor

Magnet

Rotation
Counter Clockwise
(Facing Motor Fan) Strainer

Pump

Reservoir

232
9.11

Approx.

 .39 

140
5.51

Mounting

P Port
(3/8" FNPT) 

T Port
(3/8" FNPT) 

Check Valve

223
8.78

Approx.

180
7.09

167
6.56

68
 2.69 152

5.98

68
 2.69 

27
 1.06 

27
1.06 typ.

233
9.16

Approx.

Rotation
CCW

(Facing motor fan)

8-M10X1.5
16mm

Units: Inches [mm]

MOTOR POWER PHASE VAC @ 60Hz 
(1740 RPM)

VAC @ 50Hz 
(1425 RPM) "L" DIM

1HP1 1HP 1 115/230 N/A 10.32 [262]

1HP3 1HP 3 230/460 200/400 10.92 [277]

2HP1 2HP 1 115/230 N/A 11.38 [289]

2HP3 2HP 3 230/460 200/400 11.92 [303]

3HP3 3HP 3 230/460 200/400 11.92 [303]



HT & VT Series
Series VT- AC Motor Small Power Units

Dimensional Data

31341 Friendship Drive, Magnolia, TX 77355  •  Tel.: 281-259-7768 Fax: 281-259-7249  •  www.hyvair.com

  7.96  

Mounting
1 HP = 3.93 [100]

2-3 HP = 4.93 [125]

140
5.51

Low Noise Relief Valve

Filler/Breather

P Port
(3/8" FNPT) 

T Port
(3/8" FNPT) 

Check valve

Strainer

Level/Temp 
Gauge

Pump

Magnet

322
12.68

Approx.

300
  11.81  

Mounting
1 HP = 3.97 [101]

2-3 HP = 4.93 [125]

VT3 = 9.65 [245]
VT10 = 19.22 [488]

  L  

44
  1.75  

16
.61

P2 Port
(G 3/8") 

T2 Port
(G 3/8") 

A.C. Motor

8-M10X1.5
16mm

260
10.24

(Mounting)

330
12.99

(Mounting)

350
  13.78  

300
  11.81  

300
  11.81  

150
5.91

177
6.96

4-
10
.39

322
12.68

Approx.

Rotation
Counter Clockwise
(Facing Motor Fan) 

Rotation
CCW

(Facing motor fan)

MOTOR POWER PHASE VAC @ 60Hz 
(1740 RPM)

VAC @ 50Hz 
(1425 RPM) "L" DIM

1HP1 1HP 1 115/230 N/A 10.32 [262]

1HP3 1HP 3 230/460 200/400 10.92 [277]

2HP1 2HP 1 115/230 N/A 11.38 [289]

2HP3 2HP 3 230/460 200/400 11.92 [303]

3HP3 3HP 3 230/460 200/400 11.92 [303]

Units: Inches [mm]



31341 Friendship Drive, Magnolia, TX 77355  •  Tel.: 281-259-7768 Fax: 281-259-7249  •  www.hyvair.com

HT & VT Series
AC Motor Small Power Units

M8X1.25 x 50mm
Add 50mm/ valve station

For External Drain/ 
Pressure Ports
Specify W852502-2Q Manifold
Note: T Port Must be 
Plugged for External Drain

W850501 
Series Circuit Manifold
Series: W852501
Parallel: W850502-2P1

W850500 Adapter

31
.8

15
2 

(5
.9

8)
68

.2
 (2

.6
9)

27
(0

.4
9)

12
.5

12.5
(0.49)

M10xP1.5 - 4Holes

MOUNTING PAD “C”

152 (5.98)

12.5
(0.49)

27
(1.06) 68.2 (2.69)

31.8
(1.25)

STANDARD
RELIEF VALVE

(OR LOW-NOISE
RELIEF VALVE)

T PORT
G 3/8”

T

M
O

U
N

TI
N

G
 P

A
D

 “D
”

VIEW FROM MOTOR SIDE

T

P

M
O

U
N

TI
N

G
 P

A
D

 “B
”

USELESS PORT
G 3/8”

(NO OIL)

ADAPTER “A” KIT
(W85050-R)

A PORT
G 1/4” P

A B

T
MOUNTING
SURFACE
CETOP 03

A PORT
G 1/4”

P

A B

T

X Alignment Hole (ref.)

94.23 (3.71)

49
.8

 (1
.9

6)
49

.5
 (1

.9
5)

133.73 (5.265)

27
.6

(1
.0

85
)

W850502-1 End Manifold
also use for parallel 
or series circuits

(1
.2

5)
(1

.0
6)

Units: mm (inches)

Optional Manifolds/ Adapter

Check Valve 

(removed from “A” side)

Standard Configuration

Hyd. Schematic

With Lowering Valve- DV

Hyd. Schematic

T P

M

CHECK VALVE

“A” SIDE

M
O

U
N

TI
N

G
 P

A
D

 “D
”

3/8” BSP

“B
” 

SI
D

E

3/8” NPT3/8” NPTP

P

T

T
T

T
RELIEF VALVE

3/8” BSP

(VIEWED FROM
PUMP SIDE)

PUMP

M10*1.5
MOUNTING PAD “C”

T P

M

CHECK VALVE

“A” SIDE

M
O

U
N

TI
N

G
 P

A
D

 “D
”

3/8” BSP

“B
” 

SI
D

E

3/8” NPTP

P

TT
T

RELIEF VALVE

3/8” BSP

(VIEWED FROM
PUMP SIDE)

PUMP

M10*1.5
MOUNTING PAD “C”

OPTIONAL 
LOWERING

SPEED 
CONTROL

SERIES VT10- AC MOTOR
(With Optional Return Filter, 

D03 Valves, Adapter & Manifolds)

TOP

BOTTOM




